
 
 
 
 
 
Chapter 01.07 
Taylor Theorem Revisited 
 
 
 
 
 
After reading this chapter, you should be able to 
 

1. understand the basics of Taylor’s theorem, 
2. write transcendental and trigonometric functions as Taylor’s polynomial, 
3. use Taylor’s theorem to find the values of a function at any point, given the values of 

the function and all its derivatives at a particular point, 
4. calculate errors and error bounds of approximating a function by Taylor series, and 
5. revisit the chapter whenever Taylor’s theorem is used to derive or explain numerical 

methods for various mathematical procedures. 
 
The use of Taylor series exists in so many aspects of numerical methods that it is imperative 
to devote a separate chapter to its review and applications.  For example, you must have 
come across expressions such as 

+−+−=
!6!4!2

1)cos(
642 xxxx                               (1) 

+−+−=
!7!5!3

)sin(
753 xxxxx                               (2) 

++++=
!3!2

1
32 xxxex                                (3) 

All the above expressions are actually a special case of Taylor series called the Maclaurin 
series.  Why are these applications of Taylor’s theorem important for numerical methods?  
Expressions such as given in Equations (1), (2) and (3) give you a way to find the 
approximate values of these functions by using the basic arithmetic operations of addition, 
subtraction, division, and multiplication.   
 
Example 1 

Find the value of 25.0e  using the first five terms of the Maclaurin series. 
Solution 

The first five terms of the Maclaurin series for xe is 

!4!3!2
1

432 xxxxex ++++≈  

01.07.1 
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!4
25.0

!3
25.0

!2
25.025.01

432
25.0 ++++≈e  

                   2840.1=  
The exact value of 25.0e  up to 5 significant digits is also 1.2840.   
But the above discussion and example do not answer our question of what a Taylor series is.   
Here it is, for a function ( )xf  

( ) ( ) ( ) ( ) ( )
+

′′′
+

′′
+′+=+ 32

!3!2
hxfhxfhxfxfhxf                  (4) 

provided all derivatives of ( )xf  exist and are continuous between x  and hx + .   
 
What does this mean in plain English?   
As Archimedes would have said (without the fine print), “Give me the value of the function at 
a single point, and the value of all (first, second, and so on) its derivatives, and I can give 
you the value of the function at any other point”.   
            It is very important to note that the Taylor series is not asking for the expression of 
the function and its derivatives, just the value of the function and its derivatives at a single 
point.   
           Now the fine print:  Yes, all the derivatives have to exist and be continuous between x  
(the point where you are) to the point, hx +  where you are wanting to calculate the function 
at.  However, if you want to calculate the function approximately by using the thn  order 
Taylor polynomial, then thndst n,....,2,1 derivatives need to exist and be continuous in the 
closed interval ],[ hxx + , while the thn )1( +  derivative needs to exist and be continuous in 
the open interval ),( hxx + . 
 
Example 2 

Take ( ) ( )xxf sin= , we all know the value of 1
2

sin =





π .  We also know the ( ) ( )xxf cos=′  

and 0
2

cos =





π .  Similarly ( ) )sin(xxf −=′′  and 1

2
sin =






π .  In a way, we know the value 

of ( )xsin  and all its derivatives at 
2
π

=x .  We do not need to use any calculators, just plain 

differential calculus and trigonometry would do.  Can you use Taylor series and this 
information to find the value of ( )2sin ? 
Solution 

2
π

=x  

2=+ hx  
xh −= 2  

2
2 π
−=  

42920.0=  
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So 

( ) ( ) ( ) ( ) ( ) +′′′′+′′′+′′+′+=+
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!42!32!22222

432 hfhfhfhffhf ππππππ  

( ) ( ) ( ) ( )
+++−+=






 +

!4
42920.01

!3
42920.00

!2
42920.0142920.00142920.0

2

432πf  

       +++−+= 00141393.00092106.001  
       90931.0≅  
The value of ( )2sin  I get from my calculator is 90930.0 which is very close to the value I just 
obtained.  Now you can get a better value by using more terms of the series.  In addition, you 
can now use the value calculated for ( )2sin  coupled with the value of ( )2cos  (which can be 
calculated by Taylor series just like this example or by using the 1cossin 22 ≡+ xx  identity) 
to find value of ( )xsin  at some other point.  In this way, we can find the value of ( )xsin  for 
any value from 0=x  to π2  and then can use the periodicity of ( )xsin , that is 

( ) ( ) ,2,1,2sinsin =+= nnxx π  to calculate the value of ( )xsin   at any other point. 
 
Example 3 

Derive the Maclaurin series of ( ) +−+−=
!7!5!3

sin
753 xxxxx  

Solution 

In the previous example, we wrote the Taylor series for ( )xsin  around the point 
2
π

=x .  

Maclaurin series is simply a Taylor series for the point 0=x . 
( ) ( )xxf sin= , ( ) 00 =f  
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( ) ( )xxf cos=′ , ( ) 10 =′f  
( ) ( )xxf sin−=′′ , ( ) 00 =′′f  
( ) ( )xxf cos−=′′′ , ( ) 10 −=′′′f  
( ) ( )xxf sin=′′′′ , ( ) 00 =′′′′f  
( ) )cos(xxf =′′′′′ , ( ) 10 =′′′′′f  

  
Using the Taylor series now, 

( ) ( ) ( ) ( ) ( ) ( ) ( ) +′′′′′+′′′′+′′′+′′+′+=+
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5432 hxfhxfhxfhxfhxfxfhxf  

( ) ( ) ( ) ( ) ( ) ( ) ( ) +′′′′′+′′′′+′′′+′′+′+=+
5

0
4

0
!3

0
!2

0000
5432 hfhfhfhfhffhf  
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        ++−=
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So 

( ) −+−=
!5!3

53 xxxxf  

( ) −+−=
!5!3

sin
53 xxxx  

 
Example 4 

Find the value of ( )6f  given that ( ) 1254 =f , ( ) 744 =′f , ( ) 304 =′′f , ( ) 64 =′′′f  and all 
other higher derivatives of ( )xf  at 4=x  are zero. 
Solution 

( ) ( ) ( ) ( ) ( ) +′′′+′′+′+=+
!3!2

32 hxfhxfhxfxfhxf  

4=x  
46 −=h  

     2=  
Since fourth and higher derivatives of ( )xf  are zero at 4=x . 

( ) ( ) ( ) ( ) ( )
!3

24
!2

2424424
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fffff ′′′+′′+′+=+  

( ) ( ) 
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




+
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




++=

!3
26

!2
2302741256

32

f  

        860148125 +++=  
        341=  
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Note that to find ( )6f  exactly, we only needed the value of the function and all its 
derivatives at some other point, in this case, 4=x .  We did not need the expression for the 
function and all its derivatives.  Taylor series application would be redundant if we needed to 
know the expression for the function, as we could just substitute 6=x  in it to get the value 
of ( )6f . 
             Actually the problem posed above was obtained from a known function 
( ) 523 23 +++= xxxxf  where ( ) 1254 =f , ( ) 744 =′f , ( ) 304 =′′f , ( ) 64 =′′′f , and all other 

higher derivatives are zero. 
 
Error in Taylor Series 
As you have noticed, the Taylor series has infinite terms.  Only in special cases such as a 
finite polynomial does it have a finite number of terms.  So whenever you are using a Taylor 
series to calculate the value of a function, it is being calculated approximately.   
 
The Taylor polynomial of order n  of a function )(xf  with )1( +n  continuous derivatives in 
the domain ],[ hxx +  is given by  

( ) ( ) ( ) ( ) ( ) ( ) ( )hxR
n
hxfhxfhxfxfhxf n

n
n +++++′+=+

!!2
''

2

  

where the remainder is given by 

( ) ( ) ( ) ( )cf
n
hhxR n

n

n
1

1

)!1(
+

+

+
=+ . 

where 
hxcx +<<  

that is, c  is some point in the domain ( )hxx +, . 
 
Example 5 

The Taylor series for xe at point 0=x  is given by 

++++++=
!5!4!3!2

1
5432 xxxxxe x  

a) What is the truncation (true) error in the representation of 1e  if only four terms of the 
series are used?   
b) Use the remainder theorem to find the bounds of the truncation error. 
Solution 

a) If only four terms of the series are used, then 

!3!2
1

32 xxxe x +++≈  

!3
1

!2
111

32
1 +++≈e  

      66667.2=  
The truncation (true) error would be the unused terms of the Taylor series, which then are 
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++=
!5!4

54 xxEt  

      ++=
!5

1
!4

1 54

 

      0516152.0≅  
b) But is there any way to know the bounds of this error other than calculating it 

directly?  Yes,  

( ) ( ) ( ) ( ) ( ) ( )hxR
n
hxfhxfxfhxf n

n
n ++++′+=+

!
  

where 

( ) ( )
( )

( ) ( )cf
n
hhxR n

n

n
1

1

!1
+

+

+
=+ , hxcx +<< , and  

c  is some point in the domain ( )hxx +, .  So in this case, if we are using four terms of the 
Taylor series, the remainder is given by ( )3,0 == nx  

( ) ( )
( )

( ) ( )cfR 13
13

3 !13
110 +

+

+
=+  

          ( ) ( )cf 4

!4
1

=  

          
24

ce
=  

Since  
hxcx +<<  
100 +<< c  

10 << c  
The error is bound between 

( )
24

1
24

1

3

0 eRe
<<  

( )
24

1
24
1

3
eR <<  

( ) 113261.01041667.0 3 << R  
So the bound of the error is less than 113261.0  which does concur with the calculated error 
of 0516152.0 .  
 
Example 6 

The Taylor series for xe at point 0=x  is given by 

++++++=
!5!4!3!2

1
5432 xxxxxe x  

As you can see in the previous example that by taking more terms, the error bounds decrease 
and hence you have a better estimate of 1e .  How many terms it would require to get an 
approximation of 1e  within a magnitude of true error of less than 610− ? 
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Solution 

Using ( )1+n  terms of the Taylor series gives an error bound of  

( ) ( )
( )

( ) ( )cf
n
hhxR n

n

n
1

1

!1
+

+

+
=+  

xexfhx === )(,1,0  

( ) ( )
( )

( ) ( )cf
n

R n
n

n
1

1

!1
11 +

+

+
=  

          ( )
( )

c
n

e
n !1
1 1

+
=

+

 

Since  
hxcx +<<  
100 +<< c  

10 << c  

( )
)!1(

1
)!1(

1
+

<<
+ n

eR
n n  

So if we want to find out how many terms it would require to get an approximation of 1e  
within a magnitude of true error of less than 610− , 

610
)!1(

−<
+n
e  

en 610)!1( >+  
310)!1( 6 ×>+n   (as we do not know the value of e but it is less than 3). 

9≥n  
So 9 terms or more will get 1e  within an error of 610−  in its value.   
 
 We can do calculations such as the ones given above only for simple functions.  To 
do a similar analysis of how many terms of the series are needed for a specified accuracy for 
any general function, we can do that based on the concept of absolute relative approximate 
errors discussed in Chapter 01.02 as follows. 
 We use the concept of absolute relative approximate error (see Chapter 01.02 for 
details), which is calculated after each term in the series is added.  The maximum value of 
m , for which the absolute relative approximate error is less than m−× 2105.0 % is the least 
number of significant digits correct in the answer.  It establishes the accuracy of the 
approximate value of a function without the knowledge of remainder of Taylor series or the 
true error. 



01.07.8                                                        Chapter 01.07 
 

 
INTRODUCTION TO NUMERICAL METHODS  
Topic Taylor Theorem Revisited 
Summary These are textbook notes on Taylor Series 
Major All engineering majors 
Authors Autar Kaw 
Date June 3, 2014 
Web Site http://numericalmethods.eng.usf.edu 

 
 


	Chapter 01.07
	Taylor Theorem Revisited
	Example 1
	Solution
	What does this mean in plain English?
	Example 2
	Solution
	Example 3
	Solution
	Example 4
	Solution
	Error in Taylor Series
	Example 5
	Solution
	Example 6
	Solution


<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (GRACoL2006_Coated1v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Warning

  /CompatibilityLevel 1.3

  /CompressObjects /Off

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages false

  /CreateJobTicket false

  /DefaultRenderingIntent /RelativeColorimetric

  /DetectBlends false

  /DetectCurves 0.0000

  /ColorConversionStrategy /LeaveColorUnchanged

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams true

  /MaxSubsetPct 1

  /Optimize true

  /OPM 1

  /ParseDSCComments false

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage false

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness false

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Preserve

  /UCRandBGInfo /Remove

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages false

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.00000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages false

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.00000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages false

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.00000

  /EncodeMonoImages true

  /MonoImageFilter /FlateEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile (GRACoL2006_Coated1v2)

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<

    /ENU ([Based on 'Lulu'] Use these settings to create Adobe PDF documents best suited for Lulu's printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 4.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /BleedOffset [

        0

        0

        0

        0

      ]

      /ConvertColors /NoConversion

      /DestinationProfileName (GRACoL2006_Coated1v2)

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /ClipComplexRegions true

        /ConvertStrokesToOutlines false

        /ConvertTextToOutlines false

        /GradientResolution 300

        /LineArtTextResolution 1200

        /PresetName ([High Resolution])

        /PresetSelector /HighResolution

        /RasterVectorBalance 1

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MarksOffset 6

      /MarksWeight 0.250000

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PageMarksFile /RomanDefault

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

    <<

      /AllowImageBreaks true

      /AllowTableBreaks true

      /ExpandPage false

      /HonorBaseURL true

      /HonorRolloverEffect false

      /IgnoreHTMLPageBreaks false

      /IncludeHeaderFooter false

      /MarginOffset [

        0

        0

        0

        0

      ]

      /MetadataAuthor ()

      /MetadataKeywords ()

      /MetadataSubject ()

      /MetadataTitle ()

      /MetricPageSize [

        0

        0

      ]

      /MetricUnit /inch

      /MobileCompatible 0

      /Namespace [

        (Adobe)

        (GoLive)

        (8.0)

      ]

      /OpenZoomToHTMLFontSize false

      /PageOrientation /Portrait

      /RemoveBackground false

      /ShrinkContent true

      /TreatColorsAs /MainMonitorColors

      /UseEmbeddedProfiles false

      /UseHTMLTitleAsMetadata true

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [1200 1200]

  /PageSize [612.000 792.000]

>> setpagedevice



